O BEmORKR

.

CREDSEXRFENDEELRERR

(Bfu:BAAFEE. O A %)

15 = THRIOEE | DHTEE | SH2FEE | DHEE | PH4EE

BREINE (BENE) 1,572 1,541 1,631 1,501 1,345
EREENE 611 598 560 578 525
HFFENE 230 227 215 191 198
BEEENE 449 450 488 398 285
AR5t B N & 192 196 222 158 256
TOMEBEFENEE 88 120 201 175 80
BB &R 119 141 89 64 61
SHERE 83 102 37 45 47
HEE 758 752 737 728 714
(HEOK) (758,403) | (752,420)| (737,998)| (728,714)| (714,838)
B ELR 4,230 4,313 4,287 4,272 4,166
WEER 65,462 66,161 66,516 67,087 67,281
TFEEFEES 59,892 60,650 60,825 61,554 62,084
BELrEES 28,166 29,615 30,131 29,999 29,953
BMiEERS 2,174 1,365 1,428 1,380 1,021
ARERIEH 15 14 14 14 13
HERER 15 14 14 14 13
EXVHASER 0 0 0 0 0

kS
B 8 78 N 79N 78 A 76 A\ 77N
BHRECEAREE 13.89% 12.31% 12.29% 12.22% 12.24%

CE)1. BERBERLEERRBOAHBEERLTVET,
2. HHARRERX . RITFOLHHPAMEICHHEIZEDTY,
3. BREHORMUKE VT >TLEREA,
4. TEHRBEHCEAER L. TERXEBRAESENCORENREMZHI IO DOEE | (ER 18 FE/MT B
KEETRE 2F)ICEITELLTHEYET,
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2. MImAEER

(BU:BAM.%)

15 B SH3IFE SHMAFEE BOR
BEEEANX 504 476 A27
ZBEEIF N 9 10 0
TOMERASZSEINX 4 A24 A20
EREEEMIE 519 492 A27
(EREXHEMEER) (0.83) (0.77) (A0.06)
EXEMEM R 910 903 AT
(BEHEAMER) (1.36) (1.34) (A0.02)
EXfE 66 71 5
EEEXEM 66 71 5
OA7EHEMR 30 41 11
O7EEMIE 30 41 11
(REEEBNBRZER)

(D) *EEERAR=-"BESEANR -EEHEER

*RBEMEIFRZ =B FRE-RBEWM5IFER

¥ ETDNMERBFERI=(ZOMBEXEEZENRNE+ ZOMBERE) (ZTOMBXERER+ T

BREER)

*EREREANEXR=-GRAFXRNE/FRERZREE(BBERIRRZR) THEIEZE X100
¥FEXREMNE=FXBIR-EREXRCRITOUBERE -EAERUANACEIZOMDIRE
+ERFERCRIZOMEEER+ERAFEXRUNICRIZOMDERN

+EXNANRBORBREERAE+EHROETERRGER
*EEAABR=FXHENBE/MEE(BBERIRRZR) FHES X100
*FEEMBE=-FXHENE-FXEEE - —REFSIHESRASE
*FREERXRMB=FXMAD+ - RECASILHSHEAE
¥ I7EXNE=-REFXMNT -ERFAFERER
¥ ITEXEMB(REGHBNERZRG) =I7EXAL - REGTMNVER
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3. EEERANZNDAR

(BA:BBEME.%)

= g THM3FEE THNAFE
a%e | # R M @B EEEE | MR o[
B ERME 62,318 496| 0.79%| 62,841 469| 0.74%
S5 E 30,900 176 0.57%| 31,539 160| 0.51%
> 5% il 5 2% 1,270 121 0.94% 1,220 10| 0.82%
SEEHE 30,147 308 1.02%| 30,081 298| 0.99%
BEEREE 60,909 15| 0.03%| 61,744 9| 0.01%
Stirg-EHESE | 60,909 15| 0.03%| 61,744 9| 0.01%
DEREMITE - - - - - -
SHEEAE - - - - - -
MEEH I - - 0.76% - -1 0.73%

CE)1.BESASP=BE£EAFOY-EERERMER(ESHAEMNEB + BREXR)
2. ERERBENMNEMOEEICIT. EMPREENSOERXNADERLYE. BRBHENEEN

TWET,

4. ZH-ZILF B DIBEE

(B :BHAM)

15 = THM3FEERE 04 5F B IR ER
Z WM B A26 A26
SEHE A2 A15
> 5% i ik 35 A2 AT
SEEHE A2 A9
X Hho#M B2 A5 A6
SEirE - EHRRE A5 A6
SEEREMEE - -
SEEAE - -
=5l A21 A20

CE)1.BRBELIHFEENLETT,

2.ZMABDREICK. BRAREENSHDEXRFBIERYE.

53

BEMENBENTNET,






